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3. Scmplify
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L IF the &Iy‘m of the edge of @ cuobe

(S douvblecl how many tumes (ﬁ/:géar
Lucll  the valvme be 7

2. What s the Suvrdace Area of Thik

truncalid pyraﬁud /f bhoth bases are
Jt goa res and para L[@L _ P

Find, total
Serface areds.

54t
3. A cylindrical water tank has an é:fzszdz
Arameler of 2084, and hewght of /00 Fi.
Zf 1 codt. of water /5 equal b 7 gal,

how many gallons of woler 4o the nesps
gallon wull the tonk Nolo, 2 (use 7= 3.113;5&8&



L ateaory I /
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! How MANL) pascf& Ve Md@fﬁé Sactor< s
“he nomber 196 have ?

£ For- what valpe of % (s the J.;(Z;owmc;
equation troe? -

glx-3 +8=28

3 A barel s b Jull of oil. Llhen ZOQQ&MQM |
Are added, the batrel s 2/ full. How many
mors gollons must be addec For the barrel
to be Cﬂmpéﬁé@' Full 7
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3.

L What s the probability that at least
one tadl, Sppears i two tosses of
2 faur colr 2 ( Express as a draction. )

Z. The scores on a recent math test
dre Usted i the table belowd. lhat /e

Z%X; Mm/z, Score ¢ Cz“/ Sludent in the clase)

NXorE FEEQUENCY
/00 3
g0 7
85 17
60 L

J. The probabelily that Sam. il make
3 bastet on each chol he 4skes (s /5%,

What s the probabilily that he il
miss on three ConSecttive Shots ¥
(£ Express A5 3 Fraction)
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[ T 9t B+ s a perfect Sgoare
CHhAC s the value of C

A. (m,m/_)z“" (o ~1)— 6 = O Solve o m

3. In a rugit trisngle the Cength of one

leg (s &om Shorter Chan Zes t the ZQE&%
of the other leg. TF tha area of the

Criangle 1i /32cmt what (s the Tength
of e &@er ZEj ?
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[ Hows many o Flerent 4 -digit

nimbers can be macde ¥ no
Zuo diglls are

A
°

2 <ame !

Z. [Olggiit {O!(:éhre@jﬁ“ 101,

T 10l ceunty + 10l (ney =

(ten)

3. T @dgé c:)f one  Cube !';S Jem. ' e Than.
edge of Snother cube. The d/?f@r@t beliveen.
__ Voltmes 3cem?  (bst Is e f?edvzégé% of
Fhe En ; 2 LUy er cube?
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5. Two marbles gre Ao ",
the Some Zime. picked, From 4 é@g S he

5 red o L4 the bag contarm
. J TCENL. QR 5 yg( (@ L) é 5 )
L8 th& Lro A aby, / ; f 0, rb /;@SZ (a4 /ZE“?Z{

' R one,dnd onlly
LS red ° (@n/e Answer 8¢ c’cimé lerm e

JQE@«:.‘Zf“cm)
o DF—&«B&(%)/E*
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